Flexible budgets, variances and

management controls

Describe the difference between a static budget and a flexible budget.

Illustrate how a flexible budget can be developed

use the flexible budget approach to compute flexible budget and sales volume variances.

Interpret the price and efficiency variances for direct cost input categories.

Static budgets and flexible budgets

A static budget is a budget that is based on one level of output; it is not adjusted or altered after it is set.

A flexible budget is adjusted in accordance with ensuing changes in actual output.

A favourable variance—denoted F—is a variance that increases operating income relative to budgeted amount.

An unfavourable variance-denoted U—is a variance that decreases operating income relative to the budgeted amount.

In the following we will be using the Webb company to illustrate static and flexible budgets.

Webb manufactures and sells a single product, a distinctive jacket that requires many materials, tailoring, and hand operations.

Webb sets budgeted revenues(budgeted selling price x budgeted units sold) on the basis of input from its marketing personnel and an analysis of general and industry economic conditions.

The costing system at Webb includes both manufacturing costs and marketing costs. There are direct and indirect costs in each category:

	
	Direct costs
	Indirect costs

	manufacturing
	Direct materials

direct manufacturing labour
	Variable manufacturing overhead

fixed manufacturing overhead

	marketing
	Direct marketing labour
	Variable marketing overhead

fixed marketing overhead


The cost driver for direct materials, direct manufacturing labour, and variable manufacturing overhead is the number of units manufactured.

The cost driver for direct marketing labour and variable marketing overhead is the number of units sold.

The revenue driver is the number of units sold.

The relevant range for the $180 selling price per jacket and for the cost drivers in both manufacturing and marketing is from 8000 and 16000 units.

All costs are either driven by output units or are fixed.

[image: image1.jpg];ctual results and the static budget amounts of Webb for April 19_7 are as follows:

Static

Actual Budget

Results Amounts
Units sold 10,000 12,000
Revenues $1,850,000 $2,160,000
Variable costs 1,120,000 1,188,000
Fixed costs 705,000 710,000
Operating income 25,000 262,000

Exhibit 7-1 presents the Level 0 and Level 1 variance analyses for April 19_7.
) gives the least detailed comparison of the actual and budgeted operating in-
The unfavourable variance of $237,000 is simply the result of subtractlng the

-ted operating income of $262,000 from the actual operating income of
)i

Static budget variance _ Actual _ Static budget
of operating income  results amount

=$25,000 - $262,000
=$237,000 U
ariance is often called a static budget variance because the number used for the
red amount ($262,000) is taken from a static budget.
"evel 1 analysis in Exhibit 7-1 provides managers with more detailed in-
son on the static budget variance of operating income of $237,000 U. The
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Static-Budget-Based Variance Analysis for the Webb Company for April 19_7
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LEVEL 0 ANALYSIS
Actual operating income $ 25,000 F*
Budgeted operating income 262,000 F
Static budget variance of operating income $237,000 U
LEVEL 1 ANALYSIS
Actual Static Budget Static
Results Variances Budget
) @=M0-0) 3)
Units sold 10,000 2,000 U 12,000
Revenues $1,850,000 $310,000 U $2,160,000
Variable costs 1,120,000 68,000F 1,188,000
Contribution margin 730,000 242,000 U 972,000
Fixed costs 705,000 5,000 F 710,000
Operating income $ 25,000 $237,000 U $ 262,000

T $237,000 U T

Total static budget variance

*F = favourable effect on operating income; U = unfavourable effect on operating income.

additional information added in Level 1 pertains to revenues, variable costs, and
fixed costs. The budgeted contribution margin percentage of 45.0% ($972,000 +
$2,160,000) decreases to 39.5% ($730,000 = $1,850,000) for the actual results.

While Level 1 contains more information than Level 0, additional insights into

the causes of variances can be gained by incorporating a flexible budget into the
computation of variances.

OPING A FLEXIBLE BUDGET

|

Webb’s five-step approach to developing a flexible budget is relatively straightfor-
ward given the assumption that all costs are either variable with respect to output
units or fixed. The five steps are as follows:

@ Step 1: Determine the budgeted selling price per unit, the budgeted variable costs per
unit, and the budgeted fixed costs. Each output unit (a jacket) has a budgeted
selling price of $180. The budgeted variable cost is $99 per jacket. Column 2 of
Exhibit 7-2 has a breakdown of this $99 amount. The budgeted fixed costs total
$710,000 ($276,000 manufacturing and $434,000 marketing).

@ Step 2: Determine the actual quantity of the revenue driver. 'Webb’s revenue dri-
ver is the number of units sold. In April 19_7, Webb sold 10,000 jackets.

@ Step 3: Determine the flexible budget for revenue on the basis of budgeted unit rev-
enue and the actual quantity of the revenue driver.
Flexible budget revenues = $180 x 10,000
= $1,800,000
& Step 4: Determine the actual quantity of the cost driver(s). Webb’s cost driver
for manufacturing costs is units produced. The cost driver for marketing -
costs is units sold. In April 19_7, Webb produced and sold 10,000 jackets.
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=exible Budget Data for the Webb Company for April 19_7

Budgeted Flexible Budget Amounts for Alternative Actual
Cost Levels of Output Units Sold Results
Amount for 10,000
Line Item per Unit 10,000 12,000 15,000 Units
) ) 3) @ ®) ©)
Revenue $180 $1,800,000 $2,160,000 $2,700,000 $1,850,000
Variable costs: '

Direct materials 60 600,000 720,000 900,000 688,200
Direct manufacturing labour 16 160,000 192,000 240,000 198,000

Direct marketing labour 6 60,000 72,000 90,000 57,600

Variable manufacturing overhead 12 120,000 144,000 180,000 130,500

Variable marketing overhead 5 50,000 60,000 75,000 45,700

Total variable costs 99 990,000 1,188,000 1,485,000 1,120,000

_ontribution margin $ 81 810,000 972,000 1,215,000 730,000
Fixed costs: ¥

Manufacturing overhead 276,000 276,000 276,000 285,000

Marketing overhead . 434,000 434,000 434,000 420,000

Total fixed costs . 710,000 710,000 710,000 705,000

Toeal costs . 1,700,000 1,898,000 2,195,000 1,825,000

werating income $ 100,000 $ 262,000 $ 505,000 $ 25,000

® Step 5: Determine the flexible budget for costs on the basis of the budgeted unit vari-
e costs and fixed costs and the actual quantity of the cost diver(s).

Flexible budget variable costs:

Manufacturing = $88 x 10,000 = $880,000
Marketing =$11x10,000= 110,000
$990,000
Flexible budget fixed costs:
Manufacturing =$276,000
Marketing = 434,000
$710,000

“wse five steps enable Webb to move to a Level 2 variance analysis, which helps
= better explore reasons for the $237,000 unfavourable static budget variance of
wesning income. Exhibit 7-2 shows the flexible budget for 10,000 units (column 3)
+ we! as for 12,000 and 15,000 units (columns 4 and 5).





[image: image4.jpg]FLEXIBLE BUDGET VARIANCES AND SALES VOLUME VARIANCES

" wr 7-3 presents the Level 2 flexible-budget-based variance analysis for Webb.
e that the $237,000 unfavourable static budget variance of operating income is
. wplitinto two categories—a flexible budget variance and a sales volume variance.
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Flexible-Budget-Based Variance Analysis for the Webb Company for April 19_7

LEVEL 2 ANALYSIS
Flexible Sales
Actual Budget Flexible Volume Static
Results Variances Budget Variances Budget
1) 2=1-06) 3 @=03)-05 )
Units sold 10,000 0 10,000 2,000U . 12,000
Revenues $1,850,000 $ 50,000 F* $1,800,000 $360,000 U $2,160,000
Variable costs 1,120,000 130,000 U 990,000 198,000 F 1,188,000
Contribution margin 730,000 80,000 U 810,000 162,000 U 972,000
Fixed costs 705,000 5,000 F 710,000 0 710,000
Operating income $ 25,000 $ 75,000 U $ 100,000 $162,000 U $ 262,000
T $ 75,000 U T $162,000 U T

T

Total flexible budget variance

$237,000 U

Total sales volume variance

Total static budget variance

*F = favourable effect on operating income; U = unfavourable effect on operating income.

The flexible budget variance is the difference between the actual results and the
flexible budget amount for the actual levels of the revenue and cost drivers. The
sales volume variance is the difference between the flexible budget amount and the
static-budget amount; unit selling prices, unit variable costs, and fixed costs are held
constant. Knowing these variances helps managers better explain the static budget
variance of $237,000 U.
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The first three columns of Exhibit 7-3 compare the actual results with the flexible
budget amounts. Flexible budget variances are reported in column 2 for four line
items in the income statement:

Flexible budget _ Actual _ Flexible budget
variance  results amount

For the operating income line item, the flexible budget variance is $75,000 U
($25,000 — $100,000). This variance arises because the actual selling price, unit vari-
able costs, and fixed costs differ from the budgeted amounts. The actual and bud-
geted unit amounts for the selling price and variable costs are as follows:

Actual Unit Amount Budgeted Unit Amount
Selling price $185 $180
Variable cost 112 99

The actual fixed cost of $705,000 is $5,000 less than the budgeted $710,000
amount.

The flexible budget variance pertaining to revenues is often called a selling
price variance, because it arises solely from differences between the actual selling
price and the budgeted selling price:
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= ($185 — $180) x 10,000
=$50,000 F

Webb has a favourable selling price variance because the actual selling price exceeds
the budgeted amount (by $5). Marketing managers typically are best-informed as to
why this selling price difference arose.

Sales Volume Variances

'he flexible budget amounts in column 3 of Exhibit 7-3 and the static budget
smount in column 5 are both computed using the budgeted selling prices and bud-
seted costs. This variance is labelled the “sales volume variance,” because in many
-ontexts the number of units sold is both the revenue driver and the cost driver. For
“he operating income line item:
Sales volume _ Flexible budget  Static budget
variance amount amount

=$100,000 — $262,000
=$162,000 U

‘= our Webb example, this sales volume variance in operating income arises solely
secause it sold 10,000 units, which was 2,000 less than the budgeted 12,000 units.
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The flexible budget variance (Level 2) captures the difference between the actual re-
2lts and the flexible budget. The sources of this variance (as regards costs) are the
iividual differences between actual and budgeted prices or quantities for inputs.
f‘,-~ next two variances we discuss—price variances and efficiency variances for in-
swts—analyze such differences. This information helps managers to better under-
wand past performance and to plan for future performance. We call this a Level 3
walysis, as it takes a more detailed analysis of the Level 2 variances.

A price variance is the difference between the actual price and the budgeted
srce multiplied by the actual quantity of input in question (such as direct materials
serchased or used). Price variances are sometimes called input price variances or
mate V- ariances (especially when those variances are for direct labour). An efficiency
sariance is the difference the actual quantity of input used (such as yards of cloth of
frect materials) and the budgeted quantity of i input that should have been used,
meluplied by the budgeted price. Efficiency variances are sometimes called input
efhciency variances or usage variances.

The relationship of these two variances to those we have already discussed for
nb is as follows:
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Webb’s two main sources of information about budgeted input prices and budgeted
input quantities are:

1. Actual input data from past periods. Most companies have past data on actual
input prices and actual input quantities. These past amounts could be used for the
budgeted amounts in a flexible budget. Past data is typically available at a rela-
tively low cost. The limitations of using this source are (a) past data includes past
inefficiencies and (b) past data does not incorporate any expected changes
planned to occur in the budget period.

2. Standards developed by Webb. A standard is a carefully predetermined amount;
it is usually expressed on a per-unit basis. Webb uses time-and-motion and engineer-
ing studies to determine its standard amounts. For example, it conducts a detailed
breakdown of the steps in making a jacket. Each step is then assigned a standard
time based on work by a skilled operator using equipment operating in an effi-
cient manner. The advantages of using standard amounts are that (a) they can ex-
clude past inefficiencies and (b) they can take into account expected changes in
the budget period. An example of (a) is a supplier making dramatic improvements
in its ability to consistently meet Webb’s demanding quality requirements for the
cloth material used to make jackets. An example of (b) is the acquisition of new
loom machines that operate at a faster speed and that enable work to be done
with lower reject rates.

Webb has developed standard inputs and standard costs for each of its variable
cost items. A standard input is a carefully predetermined quantity of inputs (such as
pounds of materials or hours of labour time) required for one unit of output. A stan-
dard cost is a carefully predetermined cost. Standard costs can relate to units of
inputs or units of outputs. Webb’s budgeted cost for each variable cost item is com-
puted using the following formula:

Standard inputs allowed Standard cost
for one output unit per input unit

And the variable cost items are:

@ Direct materials. 2 square metres of cloth input allowed per output unit
(jacket) manufactured, at $30 standard cost per square metre

Standard cost = 2 x $30 = $60 per output unit manufactured

# Direct manufacturing labour. 0.80 manufacturing labour-hours of input al-
lowed per output unit manufactured, at $20 standard cost per hour

Standard cost = 0.80 x $20 = $16 per output unit manufactured

# Direct marketing labour. 0.25 marketing labour-hours of input allowed per
output unit sold, at $24 standard cost per hour

Standard cost = 0.25 x $24 = $6 per output unit sold

# Variable manufacturing overhead. Allocated on the basis of 1.20 machine-hours
per output unit manufactured, at $10 standard cost per machine-hour

Standard cost = 1.20 x $10 = $12 per output unit manufactured

# Variable marketing overhead. Allocated on the basis of 0.125 direct market-
ing labour-hours per output unit sold, at $40 standard cost per hour

Standard cost = 0.125 x $40 = $5 per output unit sold




Illustration of price and efficiency variances for inputs

[image: image10.jpg]Direct materials purchased and used:
Direct materials costs
Square metres of cloth input purchased and used
Actual price per yard

Direct manufacturing labour:
Direct manufacturing labour costs
Manufacturing labour-hours of input
Actual price per hour

Direct marketing labour:
Direct marketing labour costs
Marketing labour-hours of input
Actual price per hour

$688,200
22,200
$31

$198,000
9,000
$22

$57,600
2,304
$25

For simplicity, we assume here that direct materials used is equal to direct materials

purchased.

The actual results and the flexible budget amounts for each category of direct
costs for the 10,000 actual output units in April 19_7 are:

Flexible

Actual Flexible Budget
Results Budget Variances
Direct materials $688,200 $600,000 (10,000 x $60) $ 88,200 U
Direct manufacturing labour 198,000 160,000 (10,000 x $16) 38,000 U
Direct marketing labour 57,600 60,000 (10,000 x $6) 2,400 F
Total $943,800 $820,000 $123,800 U

We now use this Webb Company data to illustrate the input price and input

efficiency variances. Consider first the input price variances.
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The formula for computing a price variance is:

Price _ (‘Actual price _ Budgeted price') Actual quantity
variance ~ \ of input of input of input

Price variances for each of Webb’s three direct cost categories are:

Actual  Budgeted

Direct Cost ( Price - Price > X Al Qungity | Tnput-Priog

Category of Input  of Input of Iigpu S
Direct materials ($31 -$30) X 22,200 = $22,200 K]
Direct manufacturing labour (%22 - $20) X 9,000 = 18,000U
Direct marketing labour (%25 - $24) X 2,304 = 2,304U

All three price variances are unfavourable (they reduce operating income) because
the actual price of each direct cost input exceeds the budgeted price; that is, Webb
incurred more cost per input unit than was budgeted.

Always consider a broad range of possible causes for price variances. For exam-
ple, Webb’s unfavourable direct materials price variance could be due to one or more
of the following reasons:

® Webb’s purchasing manager negotiated less skillfully than was assumed in the
budget.

@ Webb’s purchasing manager bought in smaller lot sizes than budgeted even
though quantity discounts were available for the larger lot sizes.

@ Materials prices unexpectedly increased because of disruptive weather conditions.

# Budgeted purchase prices for Webb’s materials were set without careful analy-
sis of the market.




[image: image12.jpg]\Webb’s response to a materials price variance will be vitally affected by the presumed
-ause of the variable. Assume it decides an unfavourable variance is due to poor ne-
sotating by its purchasing officer. Webb may decide to invest more in training this
thicer in negotiations, or it may decide to hire a more skillful purchasing officer.

When interpreting materials price variances, Webb’s managers should consider
:nv change in the relationship with the company’s suppliers. For example, assume
-hat Webb moves to a long-term relationship with a single supplier of material.
\Webb and the supplier agree to a single purchase price per unit for all material pur-
“hases in the next six months. It is likely that price variances will be minimal for this
naterial because all purchases will be made from this supplier.

Efficiency Variances

nsider now the efficiency variance. Computation of efficiency variances requires
neasurement of inputs for a given level of output. For any actual level of output, the
rniciency variance is the difference between the input that was actually used and the
‘put that should have been used to achieve that actual output, holding input price
nstant:

: : Budgeted quanti
Efficiency _ Acftgal quantlgy _ oF ingu " allgwe d ft(}: . Budgfeted ;;rlce
variance ot Inputuse actual output units achieved otinpu

ne idea here is that an organization is inefficient if it uses more inputs than bud-
-ted for the actual output units achieved, and it is efficient if it uses less inputs than
sdgeted for the actual output units achieved.

The efficiency variances for each of Webb’s direct cost categories are:

Budgeted :
: Actual Budgeted Input Allowed & _ Efficiency
D(I:I‘eCt Ut Input Used ™ for Actual Output Units % Pois oL v Variance
ategory Input
-=ct materials (22,200 metres — (10,000 units x 2.00 metres)] $30

X
(22,200 metres — 20,000 metres) X $30 = $66,000U
~=ct manufacturing [9,000 hours — (10,000 units x 0.80 hours)] x $20
X

shour (9,000 hours — 8,000 hours) $20 =$20,000U
~=ct marketing [2,304 hours — (10,000 units x 0.25 hours)] x  $24
our ( 2,304 hours — 2,500 hours) x $24 =9 4,704 F

- two manufacturing efficiency variances (direct materials and direct manufactur-
e labour) are both unfavourabﬁlre_bfgayise more input was used than was budgeted
slting in a decrease in operating income. The marketing efficiency variance is
urable because less input was used than was budgeted, resulting in an increase in
perating income.
As with price variances, Webb’s managers need to consider a broad range of
wesible reasons for efficiency variances arising. For example, Webb’s unfavourable
-ct manufacturing labour variance could be due to one or more of the following

SONS:

# Webb’s personnel manager hired underskilled workers.

# \Webb’s production scheduler inefficiently scheduled work, resulting in more
direct manufacturing labour time per jacket.

# \Webb’s maintenance department did not properly maintain machines, result-
ing in more direct manufacturing labour time per jacket.

# Budgeted time standards were set without careful analysis of the operating con-
litions and the employees’ skills.
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Columnar Presentation of Variance Analysis: Direct Materials Costs for the Webb Company

for April 19_7
R O B SR i
LEVEL 3 ANALYSIS
Flexible Budget
Actual Costs (budgeted input
Incurred allowed for actual
(actual input Actual Input output achieved
X actual price) x Budgeted Price X budgeted price)
0] @ 3)
(22,200 x $31) (22,200 % $30) (20,000 x $30)
$688,200 $666,000 $600,000
A A
$22,200 U* $66,000 U
Price variance Efficiency variance
A A
$88,200 U

Flexible budget variance

*F = favourable effect on operating income; U = unfavourable effect on operating income.

Presentation of Price and Efficiency Variances for Inputs

Note how the sum of the price variance and the efficiency variance equals the
flexible budget variance:
+ Flexible
Price + Efficiency = Budget
Variance Variance  Variance

Direct materials $22,200 U $66,000 U $88,200 U
Direct manufacturing labour 18,000 U  20,000U 38,000 U
Direct marketing labour 2,304 U 4,704 F 2,400 F

Exhibit 7-4 illustrates a convenient way to integrate the actual and budgeted input
information used to compute the price and efficiency variances for direct materials.
This exhibit assumes that materials purchased equals materials used.




exercises
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7-17

Flexible budget. Brabham Enterprises manufactures tires for the Formula I

motor racing circuit. For August 19_7, Brabham budgeted to manufacture

and sell 3,000 tires at a variable cost of $74 per tire and a total fixed cost of

$54,000. The budgeted selling price was $110 per tire. Actual results in Au-

gust 19_7 were 2,800 tires manufactured and sold at a selling price of $112

per tire. The actual total variable costs were $229,600, and the actual total

fixed costs were $50,000.

REQUIRED

1. Prepare a performance report (akin to Exhibit 7-3) that uses a flexible
budget and a static budget.

2. Comment on the results in requirement 1.

Flexible budget. The budgeted prices for direct materials, direct manufac-
turing labour, and direct marketing (distribution) labour per attaché case are
$40, $8, and $12 respectively. The president is pleased with the following
performance report:

Actual Costs Static Budget Variance
Direct materials $364,000 $400,000 $36,000 F
Direct manufacturing labour 78,000 80,000 2,000 F
Direct marketing (distribution) labour 110,000 120,000 10,000 F

7-18

REQUIRED

Actual output was 8,800 attaché cases. Is the president’s pleasure justified?
Prepare a revised performance report that uses a flexible budget and a statie
budget. Assume all three direct costs items are variable costs.

Price and efficiency variances. Peterson Foods manufactures pumpkin
scones. For January 19_8, it budgeted to purchase and use 15,000 kilograms
of pumpkin at $0.89 a kilogram; budgeted output was 60,000 scones. Actual
purchase and use for January 19_8 was 16,000 kilograms at $0.82 a kilogram;
actual output was 60,800 scones.

REQUIRED

1. Compute the flexible budget variance.

2. Compute the price and efficiency variances.

3. Comment on the results in requirements 1 and 2.

o i S iz B
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Professional labour variances, efficiency comparisons. Norma Tuck is
manager of The Tax Experts, a firm that provides assistance in the prepara-

tion of individual tax returns. Because of the highly seasonal nature of her
business, Tuck hires staff on a monthly basis from two accounting placement
ﬁrms—Professional Assist (PA) and Office Support (OS). In February 19_8,
The Tax Experts hired 12 staff members from PA and 10 from OS. PA is the
prestige firm in its area. OS is a recently formed firm.

Tuck budgets the following for February 19_8:

PA (O]
Staff Staff
Budgeted hourly rate $45 $40
Budgeted time per tax return in hours 0.40 0.50
Actual results for February 19_8 were as follows:
PA oS
Staff Staff
Actual hourly rate $48 $42
Actual time per tax return in hours 0.42 0.46
Number of tax returns completed 4,608 3,600

REQUIRED

1. Compute professional labour price and efficiency variances for (a) the 12

PA staff and (b) the 10 OS staff hired in February 19_8.

Comment on the efficiency of the PA and OS staff The Tax Experts

hired.

3. What factors other than efficiency might Tuck consider in deciding
whether to hire staff from PA or OS?

(5]
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3 Flexible budgets, variance analysis. You have been hired as a consultant
by Mary Flanagan, the president of a small manufacturing company that
makes automobile parts. Flanagan is an excellent engineer, but she has bees
frustrated by working with inadequate cost data.

You helped install flexible budgeting and standard costs for Flanagans
company. She has now asked you to consider the following data for May and
recommend how variances might be computed and presented in perfor=
marnce reports: , ~ ' |

Static budget in output units 20,000

Actual output units produced and sold 23,000 !
Budgeted selling price per output unit $40 1
Budgeted variable costs per output unit $25 - ‘
Budgeted total fixed costs per month $200,000 i
Actual revenue $874,000 |
Actual variable costs $630,000

Favourable variance in fixed costs $5,000

~ Flanagan is disappointed in the May data. Although output units sold
ceeded expectations, operating income did not. Assume that there was
beginning or ending inventory.
- REQUIRED ‘ ' , -
1. You decide to present Flanagan with alternative ways to analyze varian
s0 that she can decide what level of detail she prefers. The reporting sy
tem can then be designed accordingly. Prepare an analysis similar to
els 1 and 2 in Exhibit 7-5. '
2. What are some likely causes for the variances you report in requirement
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'~ Price and efficiency variances, journal entries. Chermcal Inc. has set up
the following standards per finished output unit for direct materlals and di-
rect manufacturing labour.
# Direct materials: 10 kilograms at $3 per kilogram $30
# Direct manufacturing labour: 0.5 hour at $20 per hour 10
The number of finished output units budgeted for March 19_8 was 10,000;
9,810 units were actually produced.

Actual results in March 19_8 were:

Direct materials: 98,073 kilograms used
Direct manufacturing labour: 4,900 hours $102,900

Assume that there was no beginning inventory of either direct materials or
finished units.

During the month, materials purchases amounted to 100,000 kilo-
grams, at a total cost of $310,000. Price variances are isolated upon pur-

chase. Efficiency variances are isolated at the time of usage.

REQUIRED :
1. Compute the March 19_8 price and efficiency variances of direct materi-
als and direct manufacturing labour. Comment on these variances.
Prepare journal entries to record the variances in requirement 1.
Why might Chemical, Inc. calculate materials price variances and mate-.
rials efficiency variances w1th reference to different pomts in Ume’

w
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